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B 44, 460[ 108, 353] 53, 246] 55, 107 17] 57 -1 81 g2 56| 436] 492 0 121 121
AH—TH 652 1,441 698 743 1 —4 -1 0 1 -1 4 5 -2 3 5
FLI T H 491 1,286 635 651 -2 -2 -1 1 2 1 6 5 -2 0 2
HIL=TH 456 1, 054 507 547 0 1 0 0 0 4 4 0 -3 0 3
FLIAED 1,599 3,781 1,840 1,941 -1 -5 -2 1 3 4 14 10 —7 3 10
s an—T1H 473 1,070 504 566 2 2 2 2 0 0 4 4 0 1 1
Heorn _TH 749 1,917 927 990 -2 -8 -2 0 2 —6 1 7 0 0 0
o —TH 472 1,185 578 607 2 4 1 1 0 2 8 6 1 2 1
g AN T H 389 961 482 479 -1 -3 0 1 1 -2 2 4 -1 1 2
e w1 H 539 1,285 621 664 2 1 -1 0 1 -1 8 9 3 3 0
e BN TH 214 493 231 262 0 2 0 0 0 2 4 2 0 0 0
s ntTH 653 1,650 822 828 -2 0 2 2 0 -2 2 4 0 2 2
g\ TH 396 881 432 449 0 0 0 0 0 2 3 1 -2 0 2
7 I 588(l 1,464 748 716 2 2 -1 0 1 3 3 0 0 0 0
i S 4,473 10,906] 5,345| 5,561 3 0 1 6 5 -2 35 37 1 9 8
Hik R — 1 H 330 833 421 412 2 2 1 1 0 1 1 0 0 0 0
Wk T H 17 2,121 1,049 1,072 4 -3 —4 1 5 -1 5 6 2 3 1
6 = 650 1,551 769 782 3 -5 —4 0 4 -1 0 1 1
St e 1,897 4,505 2,239 2, 266 9 -6 ~7 2 9 -1 13 14 2 4 2
sk R —1H 5201 1,240 608 632 -2 -2 1 1 0 -3 1 4 0 0 0
S T H 325 798 430 368 -1 —4 0 0 0 —4 4 8 0 0 0
2 = 245 571 297 274 1 3 1 2 1 2 4 2 0 0 0
E2F N 5171 1,255 635 620 —4 -3 1 2 1 —4 1 5 0 0 0
E2f e 1,607 3,864 1,970 1,894 -6 -6 3 5 2 -9 10 19 0 0 0
15 #p57) 335 987 448 539 -1 -5 -1 2 3 -5 3 8 1 1 0
HOEE ) — T H 152 397 196 201 0 0 -2 0 2 2 2 0 0 0 0
HOEER) T H 431 1,036 508 528 -2 -1 0 0 0 -2 5 7 1 1 0
HOEE) =T H 656) 1,682 829 853 0 —4 1 1 0 —6 0 6 1 1 0
HOEEHAIY T H 660 1,725 859 866 2 0 -1 3 4 2 3 1 -1 1 2
HOEE) ] H 382 909 459 450 0 -5 -1 0 1 -2 1 3 -2 1 3
HOEEI ST H 395 1,008 496 512 -2 -7 -1 0 1 -5 0 5 -1 0 1
HOEEH LT H 632 1,489 729 760 3 7 -1 1 2 3 4 1 5 5 0
HOEEH) G EE 3,308 8,246 4,076 4,170 1 -10 -5 5 10 -8 15 23 3 9 6
(LN 1,462 3,110 1,487 1,623 -3 -8 1 2 1 ~7 7 14 -2 0 2
FSIAIR 310 726 363 363 -1 -1 1 2 1 -2 1 3 0 0 0
A ge— " H 438 1,011 479 532 -3 -1 2 4 2 -2 0 2 -1 0 1
AT H 229 494 255 239 2 -1 1 1 0 -1 3 4 -1 0 1
A= H 5150 1,219 612 607 1 5 2 2 0 -2 3 5 5 6 1
THE) gLy T 5220 1,118 562 556 2 0 -3 0 3 -3 9 12 6 6 0
iEE aﬂqﬂﬂ%ﬂiT H 204 552 269 283 2 4 -1 2 3 0 1 1 5 5 0
A2 [ 1908 4,394] 2,177 2,217 4 7 1 9 8 -8 16 24 14 17 3
EET JARIT—T H 614 1,330 629 701 -1 -5 0 1 1 —4 4 -1 4 5
HEARET — T H 595 1,326 625 701 0 0 -1 0 1 1 3 0 1 1
TEHESOARTSEF | 1,200 2,656] 1,254] 1,402 -1 -5 -1 1 2 -3 7 10 -1 5 6
IR 293 905 478 427 -1 -1 0 0 0 -1 0 1 0 0 0
HHR—TH 635 1,578 792 786 5 5 2 2 0 -1 6 7 4 6 2
R —TH 1,491 3,636 1,778 1,858 0 —7 3 4 1 8 17 ol  -18 4 22
HHR=TH 835 2,289 1,140 1,149 -2 -3 -1 1 2 -2 2 4 0 3 3
HHRIUT H 449 1,110 529 581 1 2 0 0 0 4 6 2 -2 0 2
e NN 3,410 8,613] 4,239 4,374 4 -3 4 7 3 9 31 221 -16 13 29
JeHR—TH 599| 1,478 742 736 -3 —6 1 2 1 —6 1 7 -1 0 1
AR _TH 793 2,067 1,028] 1,039 -1 —6 1 3 2 —6 1 7 -1 3 4
JEHIR="TH 413 962 499 463 -3 —4 0 1 1 -3 1 -1 1 2
LR EED 1,805 4,507 2,269 2, 6238 -7l -16 2 6 4 -15 3 18 -3 4 7
HRCRTHT 305 830 396 434 3 13 0 0 0 8 10 2 5 5 0
Y& 1,471 4,823 2,210 2,613 -1 -3 -3 1 4 2 11 9 -2 1 3
P 716 1,872 945 927 -1 —6 -1 0 1 -3 0 -2 0 2
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FYE T H 693 1,843 925 918 3 5 3 4 1 6 6 0 —4 2 6
FAE =T H 592 1,497 747 750 1 -1 -1 1 2 0 9 9 0 3 3
FAAIEM T H 883l 2,284| 1,116 1,168 1 0 1 1 0 -2 5 7 1 4 3
A E T H 560| 1, 355 664 691 3 3 1 1 0 0 3 3 2 6 4
FRIE ST H 418 1,083 527 556 0 -1 0 0 0 -1 0 1 0 0 0
PR S E 3,862 9,934 4,924] 5,010 7 0 3 7 4 0 23 23 -3 15 18
R 506 1,155 555 600 5 1 1 1 0 2 6 -2 3 5
e —T1"H 292 614 304 310 0 —4 -1 0 1 -5 1 2 4 2
e — T H 556| 1,319 655 664 2 3 3 3 0 0 6 0 0 0
RSN 848 1,933 959 974 2 -1 2 3 1 -5 7 12 2 4 2
BEli— T H 308 665 347 318 -5 —6 1 1 0 -8 85 93 1 1 0
= T H 627 1,313 654 659 2 -3 —4 0 4 0 3 3 1 2 1
=T H 3720 1,000 501 499 2 4 0 0 0 3 4 1 1 1 0
e Er 1,307 2,978 1,502 1,476 -1 -5 -3 1 4 -5 92 97 3 4 1
HHE T H 403 972 471 501 0 -3 0 1 1 -3 0 3 0 1 1
WHE T H 424f 1,123 546 577 4 6 0 1 1 6 8 2 0 1 1
s =T H 7381 1,905 940 965 -2 -5 1 1 0 -5 1 6 -1 0 1
HEMNT H 4421 1,068 510 558 -3 -8 -1 0 1 -7 2 9 0 0 0
HHIE T H 737 1,732 854 878 -1 -1 -1 0 1 0 3 3 0 0 0
HHIESNTH 214 478 240 238 1 -1 -2 0 2 0 0 0 1 1 0
T EAE 2,958 7,278| 3,561 3,717 -1 -12 -3 3 6 -9 14 23 0 3 3
<HXL—TH 591( 1,436 708 728 -2 -3 3 3 of -11 12 23 5 6 1
<X TH 651 1,543 761 782 -1 4 3 4 1 2 8 6 -1 0 1
<HXL=TH 505| 1,183 605 578 3 1 -1 0 1 3 7 4 -1 0 1
<HIWMYTH 513 1,136 568 568 -1 -1 -1 0 1 -1 3 4 1 1 0
<HXHTH 391 879 487 392 2 0 0 1 1 5 9 4 -5 0 5
<BXEE 2,651 6,177 3,129] 3,048 1 1 4 8 4 -2 39 41 -1 7 8
W E AR —T H 769 1,721 839 882 -1 -2 -1 1 2 —4 4 8 3 3 0
M EART T H 412 1,083 538 545 -2 -3 0 0 0 -1 1 2 -2 0 2
W E AR A 5L 1,181 2,804| 1,377 1,427 -3 -5 -1 1 2 -5 5 10 1 3 2
P& 440 857 420 437 -6 —7 1 1 0 -8 1 9 0 1 1
ok — 1 H 850] 1,454 656 798 -2 —4 1 1 0 -6 13 19 1 1 0
ok A 1 H 352 597 290 307 6 8 0 0 0 8 1 0 1 1
ok A =1 H 601 1,633 755 878 1 5 5 0 -1 3 1 1 0
ks AN T H 272 644 302 342 -3 0 0 0 5 10 5 -2 1 3
I A 2,075 4,328] 2,003 2,6 325 2 12 6 6 0 6 34 28 0 4 4
FRIREET 23 61 34 27 0 0 0 0 0 0 0 0 0 0 0
iy 7331 1,926 911 1,015 3 3 -1 0 1 4 9 5 0 0 0
AL 250 563 283 280 0 -1 -1 0 1 0 1 1 0 0 0
HR e — T 348 945 490 455 1 6 1 1 0 2 3 1 3 4 1
H ] T H 268 694 337 357 0 0 0 0 0 0 0 0 0 0 0
BRI 616/ 1,639 827 812 1 6 1 1 0 2 3 1 3 4 1
PafE R — T H 637 1,415 724 691 2 1 0 0 0 0 12 12 1 1 0
FEfEEER T H 476 1,207 583 624 1 -2 -2 0 2 0 8 8 0 0 0
(A Ny 1,113 2,622] 1,307 1,315 3 -1 -2 0 2 0 20 20 1 1 0

P 1 EE [ 267 646 332 314 2 3 -1 0 1 4 6 0 0 0
IR 238 599 331 268 0 -2 -1 0 1 -2 0 1 1 0




